n This picture shows the masses of eight apples.

COQC
HOEC

102 g 799 88 g

What is the difference in mass between the heaviest apple and the
lightest apple?

102 - 71 =31 31 ¢

1 mark

Write the correct symbol in each box to make the statements correct.

£2.14 > £1.95

45p < 21p

£12.50 > £9.90
2 marks
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Order these volumes starting with the largest.

Match each volume with its order.

365 ml \ 1
390 ml 2™
362 ml VQ 3
395 ml 4"

Order these lengths starting with the largest.

Match each length with its order.

115 cm

1st

236 cm

102 cm

295 cm

2nd

3rd

4th

Order these masses starting with the largest.

Match each mass with its order.

1065 kg

1st

1506 kg

1560 kg

2nd

3rd

1056 kg

4th

largest

smallest

1 mark

largest

smallest

1 mark

largest

smallest

1 mark
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